0000463186359999

o0 LOxE 0—els

[ o :
2010 4F 55 3 i I'fﬂﬁ /.2@(.

3la bida<bZzWizdFBETH. MWkiy =22 L0 25 Ala, a2), B(b, b?) B WTEhEN B
Z3|<. ZD2ODERDLEE P(p, q) 8 TB. 2L X, ROMNIEZ A X,

(1) p, g% a, bxHNTEL L XU,
(2) 25 A, BA /APB = % B2 BDS 2O LA B & X, S P OB AR Rid 2 X,
(@(@@%#@Fﬁ,:@ﬁ%ﬁ&20@%%?@&%&@%@@%%q&mwfﬁbaﬁw.

(D Y =22 &) ARSI M & =22 (x-a)*a* = $=20x-0a°
Biod T3 #4488 13 Y=2b (x=b) +p> - §=2bx — b
: K& o A EAE o pxy. 2(abdP — (80D =0
s (a-b){2P-Cath}=0 ach sy, p= &L

B\

- _ atb 2 .
“neR. 8—2&--2'—-“6!, --g.zab 5
'd\
@ 2oa iR 0wih & 4570, T
't'&\q45°: _2_&:’_3_!3_- o 4abt = 2(1"17) A
[+2a-2b 5
N4
b-a = —zab-} e @) )
b-a>o &Y. zab+2-l- <0 + ab <-4“[ - g«-é 52}

QomiZt 2% 7. (b-a)'= 405+ 2a b+ 2
2 . 5 |
“(atb) —4ab = 4 (ab)*+2ab +4i A (P = 487+ 60+ 7
o (83)

RGN

S @ ehht .

Fnel e ;R AT -

o (‘i‘rg‘ ) | OREL 84 1
Gyt TR <=Ly 9
&

—

7




0000463186359999

eo—O WOx%E 0—e>o

0004830 %7 B /2782 ook

3la blia<bZiTHEEETE. Wity = 2% Lo 25 Ala, a2), B(b, b))z B\TENENES
25K, ZD2O0HEBRORNE PP, )L TH. ZOEE, ROBWIZEZ R X\,

(1) p, g# a, bEANTELE XL,
(2) 24 A, BA ZAPB = % REU GBS ZORYE LET & X, S P OO 5% Rk X o,
(3) QDOFREDTT, ZOBYME 2 O0DHEMTH ENZKIEOHEE g 2 HWTEL L X0,

7,

(3

b
S=[F1ﬁ(xwf&7btf[ € =(2b% - b)d¥
@ p

n

fP (x-a) dx + I: (o= b)* ol X

®

~ap P Y} Th
[ S [ %2 T,

. (Po® _ ¢V
3 3

L]

n n
o

+ |
A

[
crr @@ ). b-az —2¢9-7 S |P-
p—b

[

Y




